Use the following to answer question 1.

 The Consumers Union measured the gas mileage in miles per gallon of 38 automobiles from the 1978–1979 model-year on a special test track.  The pie chart below provides information about the country of manufacture of the automobiles used in this study by the Consumers Union:
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 1. What conclusion can we draw based on this pie chart?
 A) Italian cars get significantly lower gas mileage than cars of other countries.  This is because their slice of the pie is the smallest of the chart.
 B) More than half of the cars in the study were from the United States.
 C) Swedish cars get gas mileages that are between those of Japanese and U.S. cars.
 D) Mercedes-Benz, Audi, Porsche, and BMW represent approximately a quarter of the cars tested.
Use the following to answer questions 2-3.

 In a statistics class with 136 students, the professor records how much money each student has in their possession during the first class of the semester.  The histogram shown below represents the data he collected:
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 2. From the histogram, which of the following is true?
 A) The mean is larger than the median.
 B) The mean is smaller than the median.
 C) The mean and median are approximately equal.
 D) It is impossible to compare the mean and median for these data.
 3. What is the range of the data set?
 A) 90
 B) 100
 C) 110
 D) This cannot be determined from just the histogram.
Use the following to answer question 4.

 The following boxplot is of the birth weights (in ounces) of a sample of 160 infants born in a local hospital:  
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 4. Fill in the blank. The median birth weight is approximately ________________
 A) 90 ounces.
 B) 100 ounces.
 C) 110 ounces.
 D) 120 ounces.
 5. Agricultural fairs often hold competitions for produce grown by local gardeners.  The following data are the weight (in pounds) of tomatoes entered into an annual fair in Roland, Manitoba, Canada in 2007:

2.48    1.52    1.15    1.13    1.00   0.99   0.96   0.94   0.75

The Interquartile Range (IQR) for these data is:
 A) 1.73 pounds
 B) 0.58 pounds
 C) 0.19 pounds
 D) 1.00 pounds
 E) 0.385 pounds
 6. The New England Patriots are a top ranked team in the National Football League (NFL) and the Saskatchewan Roughriders are the 2007 champions of the Canadian Football League (CFL).  From the 2007 rosters of these two teams the weight of the players was determined and the following side-by-side boxplots of their weights is provided below:
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Which of the following statements about these side-by-side boxplots is (are) TRUE?
 A) The weights of the New England team exhibit less overall variation than the Saskatchewan team.
 B) The median weight for the New England team is higher than the median weight for Saskatchewan.
 C) The IQR for the Saskatchewan team is greater than the IQR of the New England team.
 D) A and B
 E) B and C
 7. For the density curve below, which of the following is true?:
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 A) The mean and median are equal.
 B) The mean is greater than the median.
 C) The mean is less than the median.
 D) The mean could be either greater than or less than the median.
 8. The time to complete a standardized exam is approximately Normal with a mean of 70 minutes and a standard deviation of 10 minutes.  Using the 68-95-99.7 rule, what percentage of students will complete the exam in under an hour?
 A) 68%
 B) 32%
 C) 16%
 D) 5%
 9. Using the standard Normal distribution tables, what is the area under the standard Normal curve corresponding to Z < 1.1?
 A) 0.1357
 B) 0.2704
 C) 0.8413
 D) 0.8643
 10. In 1998 the World Health Organization reported the findings of a major study on the quality of blood pressure monitoring around the world.  In its report it stated that for Canada the results for diastolic blood pressure (DBP) had a mean of 78 mmHg and a standard deviation of 11 mmHg.  Assuming that diastolic blood pressure measurements are Normally distributed, the DBP reading that represents the 80th percentile of the distribution is
 A) 85.4.
 B) 93.6.
 C) 87.2.
 D) 86.8.
 E) 68.8.
Answer Key - Ch1
 1. B
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